
EC 300 2021 <2021><US><F0475U7>
ACCESSORY PACK

55654

Pos Part Number Description Additional Text Quantity

0 0017060205 SCREW FOR PLASTIC K60X20 SW6 1.00

0 79603040133 Footrest-Set 1.00

0 58411098100 CONTACT WASHER M6 VSV-K6 2.00

0 0025050126 HH collar screw M5x12 TX30 2.00

0 2510309410030 Frame protection set 1.00

0 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 1.00

0 00063004202 PRINT LABEL 60X51 MM 1.00

0 0025060166 HH collar screw M6x16 TX30 1.00

0 A54002002044 Handlebar pad cmpl. 1.00

0 00063004012 HEADLIGHT MASK BOX 1.00

0 79002014100 CAM 4-T 39,5 MM 1.00

0 000700000BH002 Dummy plug magnetic pump 2 str 1.00

0 52000238SET Sticker set Xplor OC 238x182.5 1.00

0 78141013190 FUEL FILTER 3.00

0 00063004107 SPIRALHÜLSEN EXC 1.00

0 00063004108 Bubble wrap blanks 80MY 1.00

0 A54008010000FBA front fender with decal 1.00

1 3215011EN Owner Manual GASGAS EC 250 EC 1.00

29 A54029099000 Tool set 1.00


